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�444=<5 7 5.   
- �4F5<4F<G5E><5 DG=>F<< 6 <>4G?5 «XPAC» - abs, atn, cos, exp   
- �4F5<4F<G5E><5 DG=>F<< 6 <>4G?5 «XPAC» - Cbool, Cdate, CDbl, CInt   
- �4F5<4F<G5E><5 DG=>F<< 6 <>4G?5 «XPAC» - IsArray, IaDate, Is Empty   
- �4F5<4F<G5E><5 DG=>F<< 6 <>4G?5 «XPAC» - Const, Dim, Format, Global const   
- �4F5<4F<G5E><5 DG=>F<< 6 <>4G?5 «XPAC» - Erase, Lbound, Option Base  
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�D46<?L=O= >F65F: 
 

- �4F5<4F<G5E><5 DG=>F<< 6 <>4G?5 «XPAC» - abs, atn, cos, exp   
�444=<5 7 6.   
- &<?O ?5D5<5==OE 6 <>4G?5 «XPAC» - Cbool, Cdate, CDbl, CInt   
- &<?O ?5D5<5==OE 6 <>4G?5 «XPAC» - IsArray, IaDate, Is Empty   
- &<?O ?5D5<5==OE 6 <>4G?5 «XPAC» - Const, Dim, Format, Global const   
- &<?O ?5D5<5==OE 6 <>4G?5 «XPAC» - Erase, Lbound, Option Base   
- &<?O ?5D5<5==OE 6 <>4G?5 «XPAC» - abs, atn, cos, exp   
�D46<?L=O= >F65F:   
- &<?O ?5D5<5==OE 6 <>4G?5 «XPAC» - Cbool, Cdate, CDbl, CInt   
�444=<5 7 7.   
- &<?O F5EF>6 6 <>4G?5 «XPAC» - IsArray, IaDate, Is Empty   
- &<?O F5EF>6 6 <>4G?5 «XPAC» - Const, Dim, Format, Global const   
- &<?O F5EF>6 6 <>4G?5 «XPAC» - Erase, Lbound, Option Base   
- &<?O F5EF>6 6 <>4G?5 «XPAC» - abs, atn, cos, exp   
- &<?O F5EF>6 6 <>4G?5 «XPAC» - Cbool, Cdate, CDbl, CInt   
�D46<?L=O= >F65F:   
- &<?O F5EF>6 6 <>4G?5 «XPAC» - IsArray, IaDate, Is Empty   
�444=<5 7 8.  
- �5D5<5==O5 < >>=EF4=FO 6 <>4G?5 «XPAC» - Const, Dim, Format, Global const   
- �5D5<5==O5 < >>=EF4=FO 6 <>4G?5 «XPAC» - IsArray, IaDate, Is Empty   
- �5D5<5==O5 < >>=EF4=FO 6 <>4G?5 «XPAC» - Erase, Lbound, Option Base   
- �5D5<5==O5 < >>=EF4=FO 6 <>4G?5 «XPAC» - abs, atn, cos, exp   
- �5D5<5==O5 < >>=EF4=FO 6 <>4G?5 «XPAC» - Cbool, Cdate, CDbl, CInt   
�D46<?L=O= >F65F:   
-�5D5<5==O5 < >>=EF4=FO 6 <>4G?5 «XPAC» - Const, Dim, Format, Global const   
�444=<5 7 9.   
- �4EE<6O 6 <>4G?5 «XPAC» - Erase, Lbound, Option Base   
- �4EE<6O 6 <>4G?5 «XPAC» - Const, Dim, Format, Global const   
- �4EE<6O 6 <>4G?5 «XPAC» - abs, atn, cos, exp   
- �4EE<6O 6 <>4G?5 «XPAC» - Cbool, Cdate, CDbl, CInt   
- �4EE<6O 6 <>4G?5 «XPAC» - Const, Dim, Format, Global const   
�D46<?L=O= >F65F:  
- �4EE<6O 6 <>4G?5 «XPAC» - Erase, Lbound, Option Base   
�444=<5 7 10.   
- %FD>>< 6 <>4G?5 «XPAC» - Asc, CHr, InStr, LCase   
- %FD>>< 6 <>4G?5 «XPAC» - Erase, Lbound, Option Base   
- %FD>>< 6 <>4G?5 «XPAC» - Const, Dim, Format, Global const   
- %FD>>< 6 <>4G?5 «XPAC» - abs, atn, cos, exp   
- %FD>>< 6 <>4G?5 «XPAC» - Cbool, Cdate, CDbl, CInt   
�D46<?L=O= >F65F:   
- %FD>>< 6 <>4G?5 «XPAC» - Asc, CHr, InStr, LCase  

 
&5<4F<>4 >>=FD>?L=OE D45>F EFG45=F>6 74>G=>= D>D<O >5GG5=<O: 

�OFO= >GDE. �56OFO= E5<5EFD: 
 

1. �57>D >E=>6=OE ?D>7D4<<=OE ?D>4G>F>6, ?D<<5=O5<OE 6 7>D=>4>5O64NM5= ?D><OL?5==>EF<.   
2. �57>D 6>7<>6=>EF5= < ?D>7D4<<=>= 4DE<F5>FGDO 46F><4F<7<D>64==>= E<EF5<O ?D>5>F<D>64=<O   

«XPAC».   
3. �D<>?44=O5 6>7<>6=>EF<, 4??4D4F=O5 FD55>64=<O < EFDG>FGD4 46F><4F<7<D>64==>= E<EF5<O 

?D>5>F<D>64=<O «XERAS»   
4. �>7<>6=>EF< < EFDG>FGD4 ?D>7D4<<=>7> >55E?5G5=<O «VulEan».   
5. �57>D 6>7<>6=>EF5= < ?D>7D4<<=>= 4DE<F5>FGDO ?D>7D4<<=>7> >55E?5G5=<O «MineScape»   
6. �D<>?44=O5 6>7<>6=>EF<, 4??4D4F=O5 FD55>64=<O < EFDG>FGD4 ?D>7D4<<=>7> >55E?5G5=<O   

«Datamine»   
7. �D>5>F<D>64=<5 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< ?D>7D4<<=>7> >55E?5G5=<O «Gemcom»   
8. �>7<>6=>EF< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< ?D>7D4<<=>7> >55E?5G5=<O   

«Runge».   
9. �57>D ?D>4G>F>6>7> DO44 ?D>7D4<<=>7> >55E?5G5=<O >><?4=<< <Geovia Systems=.  
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10. �5>5E>4<<>EFL < >E>55==>EF< <E?>?L7>64=<O ?D>7D4<<=>7> >55E?5G5=<O Autodesk <Autocad Civil 
 
3D=.  

11. �57>D ?D>7D4<<=>7> >><??5>E4 «Micromine».   
12. �>7<>6=>EF< < EFDG>FGD4 ?D>7D4<<=>7> >55E?5G5=<O «Surpac».   
13. �?4=<D>64=<5 7>D=OE D45>F E <E?>?L7>64=<5< ?D>7D4<<=>7> >><??5>E4 «MineSched».   
14. �>7<>6=>EF< < 4DE<F5>FGD4 ?D>7D4<<=>7> >><??5>E4 «Whittle».   
15. �E?>?L7>64=<5 ?D>7D4<<=>7> >55E?5G5=<O <Cyclon= >><?4=<< <Leica= 4?O 7>D=>-75><5FD<G5E><E   

D4EG5F>6.   
�OFO= >GDE. �5EOFO= E5<5EFD:   
1. �57>D ?D>4G>F<< >><?4=<< «Dassault Systemes»   
2. �=65=5D=O5 D4EG5FO 6 ?D>7D4<<=>< >><??5>E5 «Solidworks Simulation».   
3. �57>D 75><=D>D<4F<>==>= E<EF5<O <K-Mine=.   
4. �>EFD>5=<5 <4D>L5=45DE>>7> D47D574 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
5. �>EFD>5=<5 D47D574 ?> =5E>>?L><< ?<=<O< 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
6. �>EFD>5=<5 55D7LFD<E>6 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
7. �>EFD>5=<5 ?>?=OE >>=FGD>6 >4DL5D=>7> ?>?O 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
8. �D>5>F<D>64=<5 GEFG?>6 >4DL5D4 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
9. �D>5>F<D>64=<5 46F>4>D>7< 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
10. �>EFD>5=<5 EN574>6 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
11. �>EFD>5=<5 �-� < >?>D 4?O =<E 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
12. %>744=<5 G>?>=>G>474F5?O 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
13. �>4EG5F >5N5<>6 7>D=>= <4EEO < 74?4E>6 G7?O 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
14. �D>5>F<D>64=<5 ��$ 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.   
15. �D>5>F<D>64=<5 >F64?>6 6 6 75><=D>D<4F<>==>= E<EF5<5 <K-Mine=.  

 

 

5.2.2 �F5=>G=O5 ED54EF64 ?D< ?D><56GF>G=>= 4FF5EF4F<< 

 

�>?D>EO =4 74G5F (456OFO= E5<5EFD) 
 

1. �47>6<F5 >E=>6=O5 ?D>7D4<<=O5 ?D>4G>FO, ?D<<5=O5<O 6 7>D=>4>5O64NM5= ?D><OL?5==>EF<.  
 

2. �47>6<F5 >E=>6=GN F5?L ?D<<5=5=<O 46F><4F<7<D>64==>= E<EF5<O ?D>5>F<D>64=<O «XPAC».   
3. �47>6<F5 >E=>6=GN F5?L ?D<<5=5=<O 46F><4F<7<D>64==>= E<EF5<O ?D>5>F<D>64=<O «XERAS».   
4. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «VulEan».   
5. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «MineScape».   
6. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «Datamine».   
7. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «Gemcom».   
8. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «Runge».   
9. �E=>6=O<< >><?>=5=F4<< <>45?< «XPAC».   

10. �F>D<G=O<< >><?>=5=F4<< <>45?< «XPAC».   
11. ,45?>=O 7DG?? 44==OE.   
12. ->E?>DF 44==OE.   
13. �E=>6=O<< M?5<5=FO <>4G?O «XERAS».   
14. $57G?LF4FO <>4G?O «XERAS» =4 6OE>45.   
15. %FDG>FGD4 <>4G?O «XERAS».   
16. �4?5=44DL <>4G?O «XERAS».   
17. $G=>F<O 5654=56=<> <>4G?O «XERAS».   
18. &45?<F4 >D<6OE <>4G?O «XERAS».   
19. �D4D<G5E><5 L45?>=O <>4G?O «XERAS».   
20. �5F>4O 6OG<E?5=<= <>4G?O «XERAS».   
21. �7D574F<O <>4G?O «XERAS».   
22. �E=>6=O<< >><?>=5=F4<< <>45?< «XERAS».   
23. ,45?>=O 7DG?? 44==OE.   
24. ->E?>DF 44==OE.  
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25. �E=>6=O<< M?5<5=FO <>4G?O «XPAC».  
 
26. $57G?LF4FO <>4G?O «XPAC» =4 6OE>45.   
27. %FDG>FGD4 <>4G?O «XPAC».   
28. $G=>F<O 5654=56=<> <>4G?O «XPAC».   
29. &45?<F4 >D<6OE <>4G?O «XPAC».   
30. �D4D<G5E><5 L45?>=O <>4G?O «XPAC».   
31. �47>6<F5 <4F5<4F<G5E><5 DG=>F<< 6 <>4G?5 «XPAC».   
32. �47>6<F5 F<?O ?5D5<5==OE 6 <>4G?5 «XPAC».   
33. �47>6<F5 F<?O F5EF>6 6 <>4G?5 «XPAC».   
34. �47>6<F5 ?5D5<5==O5 < >>=EF4=FO 6 <>4G?5 «XPAC».   
35. �47>6<F5 <4EE<6O 6 <>4G?5 «XPAC».   
36. �47>6<F5 DG=>F<< < ?>4?D>7D4<<O 6 <>4G?5 «XPAC».   
37. �4> ?>?GG<FL 5OEFDGN EEO?>G 6 <>4G?5 «XPAC».   
38. �47>6<F5 ?>?L7>64F5?LE><5 DG=>F<< >5D45>F>< EF5=4D<56 6 <>4G?5«XPAC».   
39. �4> >EGM5EF6?O5FEO 66>4 <=D>D<4F<< 6 <>4G?5 «XPAC».   
40. $G=>F<< D<?LFD>6 6 <>4G?5 «XPAC».  
 

->74<5=4F<>==O5 6>?D>EO (45EOFO= E5<5EFD) 
 

1. �47>6<F5 >E=>6=O5 ?D>7D4<<=O5 ?D>4G>FO, ?D<<5=O5<O 6 7>D=>4>5O64NM5= ?D><OL?5==>EF<.  
 

2. �47>6<F5 >E=>6=GN F5?L ?D<<5=5=<O 46F><4F<7<D>64==>= E<EF5<O ?D>5>F<D>64=<O «XPAC».   
3. �47>6<F5 >E=>6=GN F5?L ?D<<5=5=<O 46F><4F<7<D>64==>= E<EF5<O ?D>5>F<D>64=<O «XERAS».   
4. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «VulEan».   
5. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «MineScape».   
6. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «Datamine».   
7. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «Gemcom».   
8. &5E=>?>7<G5E><5 7444G<, D5L45<O5 ?D< ?D>5>F<D>64=<< 7>D=>7> ?D54?D<OF<O E ?D<<5=5=<5< 

?D>7D4<<=>7> >55E?5G5=<O «Runge».   
9. �E=>6=O<< >><?>=5=F4<< <>45?< «XPAC».   

10. �F>D<G=O<< >><?>=5=F4<< <>45?< «XPAC».   
11. ,45?>=O 7DG?? 44==OE.   
12. ->E?>DF 44==OE.   
13. �E=>6=O<< M?5<5=FO <>4G?O «XERAS».   
14. $57G?LF4FO <>4G?O «XERAS» =4 6OE>45.   
15. %FDG>FGD4 <>4G?O «XERAS».   
16. �4?5=44DL <>4G?O «XERAS».   
17. $G=>F<O 5654=56=<> <>4G?O «XERAS».   
18. &45?<F4 >D<6OE <>4G?O «XERAS».   
19. �D4D<G5E><5 L45?>=O <>4G?O «XERAS».   
20. �5F>4O 6OG<E?5=<= <>4G?O «XERAS».   
21. �7D574F<O <>4G?O «XERAS».   
22. �E=>6=O<< >><?>=5=F4<< <>45?< «XERAS».   
23. ,45?>=O 7DG?? 44==OE.   
24. ->E?>DF 44==OE.   
25. �E=>6=O<< M?5<5=FO <>4G?O «XPAC».   
26. $57G?LF4FO <>4G?O «XPAC» =4 6OE>45.   
27. %FDG>FGD4 <>4G?O «XPAC».   
28. $G=>F<O 5654=56=<> <>4G?O «XPAC».   
29. &45?<F4 >D<6OE <>4G?O «XPAC».   
30. �D4D<G5E><5 L45?>=O <>4G?O «XPAC».   
31. �47>6<F5 <4F5<4F<G5E><5 DG=>F<< 6 <>4G?5 «XPAC».   
32. �47>6<F5 F<?O ?5D5<5==OE 6 <>4G?5 «XPAC».   
33. �47>6<F5 F<?O F5EF>6 6 <>4G?5 «XPAC».   
34. �47>6<F5 ?5D5<5==O5 < >>=EF4=FO 6 <>4G?5 «XPAC».   
35. �47>6<F5 <4EE<6O 6 <>4G?5 «XPAC».  
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36. �47>6<F5 DG=>F<< < ?>4?D>7D4<<O 6 <>4G?5 «XPAC».  
 
37. �4> ?>?GG<FL 5OEFDGN EEO?>G 6 <>4G?5 «XPAC».   
38. �47>6<F5 ?>?L7>64F5?LE><5 DG=>F<< >5D45>F>< EF5=4D<56 6 <>4G?5 «XPAC».   
39. �4> >EGM5EF6?O5FEO 66>4 <=D>D<4F<< 6 <>4G?5 «XPAC».   
40. $G=>F<< D<?LFD>6 6 <>4G?5 «XPAC».  
 

5.2.3. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4=<=, G<5=<=, 

=46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<5 MF4?O D>D<<D>64=<O >><?5F5=F<=  
 

&5>GM<= >>=FD>?L ?D54EF46?O5F E>5>= ?D>65D>G GE6>5=<O GG55=>7> <4F5D<4?4 F5>D5F<G5E>>7> < 

?D4>F<G5E>>7> E4D4>F5D4, D57G?OD=> >EGM5EF6?O5<GN =4 ?D>FO65=<< E5<5EFD4. 

�D><56GF>G=4O 4FF5EF4F<O >EGM5EF6?O5FEO 6 >>=F5 E5<5EFD4 < 7465DL45F <7GG5=<5 >4> 6E5= 

>F45?L=>= 4<EF<??<=O, F4> < 55 D4745?>6. �D><56GF>G=4O 4FF5EF4F<O ?><>745F >F5=<FL 5>?55 >DG?=O5 

E>6>>G?=>EF< 7=4=<= < G<5=<=, D>D<<D>64=<5 >?D545?5==OE ?D>D5EE<>=4?L=OE >><?5F5=F<=.  
�FF5EFGNM55 F5EF<D>64=<5 7=4=<= >5GG4NM<EEO ?D54=47=4G5=> 4?O >>=FD>?O GD>6=O 7=4=<= < 

?>76>?O5F 46F><4F<7<D>64FL ?D>F5EE F5>GM57> >>=FD>?O GE?5645<>EF<, 4 F4>65 ?D><56GF>G=>= 4FF5EF4F<<. 

 
�D< ?D><56GF>G=>= 4FF5EF4F<< 6 9-< E5<5EFD5 (5-= >GDE) GD>65=L >E6>5=<O GG55=>= 4<EF<??<=O < 

EF5?5=L ED>D<<D>64==>EF< >><?5F5=F<= >?D545?ONFEO >F5=>4<< «74G5F» < «=574G5F»:  
«��'�&» 3 >5GG45<O= ?>>47O645F E6>= <=F5??5>FG4?L=O= < >5M5>G?LFGD=O= GD>65=L, F65D4> 7=45F 

?D54<5F GG55=>= 4<EF<??<=O, <<55F >5M55 ?D54EF46?5=<5 >5 <=D>D<4F<>==OE F5E=>?>7<OE 6 7>D=>< 45?5, 

> <5F>4>?>7<< <EE?54>64=<= 6 >5?4EF< IT, ?>7<G=> <7?4745F <7GG5==O= <4F5D<4?, G<55F ?D<<5=OFL 

F5>D5F<G5E><5 7=4=<O 4?O 4=4?<74 E>6D5<5==OE IT, E6O7O64FL 57> D57G?LF4FO E ?D54EF>OM5= 

?D>D5EE<>=4?L=>= 45OF5?L=>EFLN.  
«����'�&» 3 EF5?5=L >E6>5=<O GG55=>= 4<EF<??<=O >5GG45<O< =5 E>>F65FEF6G5F >D<F5D<O<, 

?D54NO6?O5<O< > >F5=>5 «��'�&».  
�D< F5>GM5< >>=FD>?5 6 10-< E5<5EF5 (5-= >GDE) GD>65=L >E6>5=<O GG55=>= 4<EF<??<=O < EF5?5=L 

ED>D<<D>64==>EF< >><?5F5=F<< >?D545?ONFEO >F5=>4<< «>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», 

«=5G4>6?5F6>D<F5?L=>»:  
«�&��'��» 3 >5GG45<O= ?>>47O645F 6OE>><= GD>65=L 7=4=<O IT < F5?>EF=>5 ?D54EF46?5=<5 >5 <E 

E<EF5<5, 6?4455F <5F>4>?>7<5= F5>D5F<G5E><E < M>E?5D<<5=F4?L=OE <EE?54>64=<= 6 >5?4EF< IT, >><?5F5=F=> 

>?D545?O5F <E 7=4G5=<5 4?O 7>D=>7> 45?4, E6O7O64FL D57G?LF4FO <E <E?>?L7>64=<OE ?D54EF>OM5= 

?D>D5EE<>=4?L=>= 45OF5?L=>EFLN.  
«%�$�,�» 3 >5GG45<O= ?>>47O645F E6>= GD>65=L 7=4=<= 6 ED5D5 IT, F65D4> 7=45F ?D54<5F GG55=>= 

4<EF<??<=O, ?>7<G=> <7?4745F <7GG5==O= <4F5D<4?, G<55F ?D<<5=OFL F5>D5F<G5E><5 7=4=<O 4?O 4=4?<74  
IT.  

«'�����&��$�&��,��» 3 >5GG45<O= ?>>47O645F E6>= GD>65=L 7=4=<= IT, 6 >E=>6=>< 7=45F ?D54<5F 

GG55=>= 4<EF<??<=O, <<55F >?D545?5==>5 ?D54EF46?5=<5 > 55 ?D<<5=5=<< 6 <=65=5D=>= 45OF5?L=>EF<, 

DD47<5=F4D=> <7?4745F <7GG5==O= <4F5D<4? < E<FG4F<6=> G6O7O645F E ?D54EF>OM5= ?D>D5EE<>=4?L=>= 

45OF5?L=>EFLN.  
«��'�����&��$�&��,��» 3 EF5?5=L >E6>5=<O GG55=>= 4<EF<??<=O >5GG45<O< =5 E>>F65FEF6G5F 

>D<F5D<O<, ?D54NO6?O5<O< > >F5=>5 «G4>6?5F6>D<F5?L=>». 
 

6 �5D5G5=L >E=>6=>= < 4>?>?=<F5?L=>= GG55=>= ?<F5D4FGDO, =5>5E>4<<>= 4?O >E6>5=<O 

4<EF<??<=O "�=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5" 
 

6.1 �E=>6=4O ?<F5D4FGD4 

 

1. �4EE<E<=4, �.�. �=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5. �D<<5=5=<5 ?D>7D4<<O SCAD 4?O D4EG5F4 
EF5D6=56OE E<EF5< [-?5>FD>==O= D5EGDE] : GG55=>5 ?>E>5<5 4?O EFG45=F>6 =4?D46?5=<O 21.05.04 «�>D=>5 
45?>», E?5F<4?<74F<O 21.05.04.05 «,4EF=>5 < ?>475<=>5 EFD><F5?LEF6>» / �. �. �4EE<E<=4 ; $���' �� 
«�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», �4D. EFD-64 ?>475<. E>>DG65=<=, L4EF < D47D45. 
<5EF>D>645=<= ?>?57. <E>>?45<OE. 3 �5<5D>6>, 2016. 3 96 E. 
http://library.kuzstu.ru/meto.php?n=91431&type=utchposob:common 

2. �4EE<E<=4, �.�. �=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5 [-?5>FD>==O= D5EGDE] : >>=E?5>F ?5>F<= 4?O 
EFG45=F>6 =4?D46?5=<O 21.05.04. «�>D=>5 45?>», E?5F<4?<74F<< 21.05.04.05 «,4EF=>5 < ?>475<=>5 
EFD><F5?LEF6>» / $���' �� «�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», �4D. EFD-64 ?>475<. 
E>>DG65=<=, L4EF < D47D45. <5EF>D>645=<= ?>?57. <E>>?45<OE. 3 �5<5D>6>, 2017. 3 95 E. 
http://library.kuzstu.ru/meto.php?n=91588&type=utchposob:common 
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3. �4EE<E<=4, �.�. �=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5 [-?5>FD>==O= D5EGDE] : ?45>D4F>D=O= 
?D4>F<>G< 4?O EFG45=F>6 =4?D46?5=<O ?>47>F>6>< 21.05.04 «�>D=>5 45?>», E?5F<4?<74F<O «,4EF=>5 < 
?>475<=>5 EFD><F5?LEF6>» / $���' �� «�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», �4D. EFD-64 ?>475<. 
E>>DG65=<=, L4EF < D47D45. <5EF>D>645=<= ?>?57. <E>>?45<OE. 3 �5<5D>6>, 2017. 3 50 E. 
http://library.kuzstu.ru/meto.php?n=91590&type=utchposob:common 

 
6.2  �5F>4<G5E>4O ?<F5D4FGD4 

 

1. �4=556, �. �. �D>5>F<D>64=<5 <=D>D<4F<>==OE E<EF5< [-?5>FD>==O= D5EGDE] : <5F>4<G5E><5 

G>474=<O > ?D4>F<G5E><< D45>F4< 4?O EFG45=F>6 E?5F<4?L=>EF< 230201 «�=D>D<4F<>==O5 E<EF5<O < 

F5E=>?>7<<» / �. �. �4=556; ��' ��� «�G754E. 7>E. F5E=. G=-F», �4D. <=D>D<. < 46F><4F<7<D. ?D><76. E < E F 5 

< . 3 � 5 < 5 D > 6 > : � 7 4 4 F 5 ? L E F 6 > � G 7 � & ' , 2 0 1 1 . 3 1 3 9 E . 3 $ 5 6 < < 4 > E F G ? 4 : http://library . 

kuzstu . ru/meto . php?n=621 . 3 �47? . E M>D4=4 . (31 . 05 . 2017)  
2. �4=556, �. �. �D>5>F<D>64=<5 <=D>D<4F<>==OE E<EF5< [-?5>FD>==O= D5EGDE] : <5F>4<G5E><5 

G>474=<O > E4<>EF>OF5?L=>= D45>F5 4?O EFG45=F>6 =4?D46?5=<O 230400.68 "�=D>D<4F<>==O5 E<EF5<O < 

F5E=>?>7<<" >G=>= D>D<O >5GG5=<O / �. �. �4=556; $���' ��� «�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», 

�4D. <=D>D<. < 46F><4F<7<D. ?D><76. E<EF5<. 3 �5<5D>6> : �744F5?LEF6> �G7�&', 2014. 3 10 E. 3  
$56<< 4>EFG?4: http://library.kuzstu.ru/meto.php?n=3587. 3 �47?. E M>D4=4. (24.12.2016) 

 
7 �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» 

 

�D<F<4?L=O= E4=F �G754EE>>7> 7>EG44DEF65==>7> F5E=<G5E>>7> G=<65DE<F5F4 <<5=< &. $. �>D54G564. 
 
$56<< 4>EFG?4: www.kuzstu.ru.  
�D<F<4?L=O= E4=F D<?<4?4 �G7�&'  6 7. �5?>6> http://belovokyzgty.ru 

 

8 �5F>4<G5E><5 G>474=<O 4?O >5GG4NM<EEO ?> >E6>5=<N 4<EF<??<=O "�=D>D<4F<>==O5 

F5E=>?>7<< 6 7>D=>< 45?5" 
 

�E=>6=>= GG55=>= D45>F>= EFG45=F4 O6?O5FEO E4<>EF>OF5?L=4O D45>F4 6 F5G5=<5 6E57> ED>>4 

>5GG5=<O. �4G<=4FL <7GG5=<5 4<EF<??<=O =5>5E>4<<> E >7=4>><?5=<O E F5?O<< < 7444G4<< 4<EF<??<=O < 

7=4=<O<< < G<5=<O<<, ?D<>5D5F45<O<< 6 ?D>F5EE5 >5GG5=<O. �4?55 E?54G5F ?D>D45>F4FL >>=E?5>FO ?5>F<=, 

D4EE<>FD56 >F45?L=O5 6>?D>EO ?> ?D54?>65==O< <EF>G=<>4< ?<F5D4FGDO. �E5 =5OE=O5 6>?D>EO ?> 

4<EF<??<=5 EFG45=F <>65F D47D5L<FL =4 >>=EG?LF4F<OE, ?D>6>4<<OE ?> D4E?<E4=<N. �D< ?>47F>6>5 > 

?45>D4F>D=O< 74=OF<O< EFG45=F 6 >5O74F5?L=>< ?>DO4>5 <7GG45F F5>D5F<G5E><= <4F5D<4? 6 E>>F65FEF6<< E 

<5F>4<G5E><<< G>474=<O<< > ?45>D4F>D=O< 74=OF<O<. 

 

9 �5D5G5=L <=D>D<4F<>==OE F5E=>?>7<=, <E?>?L7G5<OE ?D< >EGM5EF6?5=<< >5D47>64F5?L=>7> 

?D>F5EE4 ?> 4<EF<??<=5 "�=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5", 6>?NG4O ?5D5G5=L 

?D>7D4<<=>7> >55E?5G5=<O < <=D>D<4F<>==OE E?D46>G=OE E<EF5< 

�?O <7GG5=<O 4<EF<??<=O <>65F <E?>?L7>64FLEO E?54GNM55 ?D>7D4<<=>5 >55E?5G5=<5: 
 

1. ESET Remote Administrator 6   
2. Libre Office   
3. Mozilla Firefox  

 
10 �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O >EGM5EF6?5=<O >5D47>64F5?L=>7> 

?D>F5EE4 ?> 4<EF<??<=5 "�=D>D<4F<>4" 

- �?O <7GG5=<O 4<EF<??<=O <E?>?L7G5FEO  �><?LNF5D=O= >?4EE 4?O ?D>6545=<O 74=OF<= E5<<=4DE>>7> 
F<?4, 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 
7207, >E=4MU==O= <G?LF<<54<==O< >5>DG4>64=<5<: >><?LNF5D 8 LF. : 17 4N=<>6O= LDC <>=<F>D 
Acer 1717s, Intel Core Duo 2.8 ��F, 2�5 ��', 512 �5 6<45>?4<OFL. �D>7D4<<=>5 >55E?5G5=<5: 
Windows7, ?4>5FO  Office 2007 < 2010., 6<DFG4?L=O5 ?45>D4F>D=O5 >><??5>EO ?> 4<EF<??<=4< 
<%>?D><4F=, <�5F4?< <4L<==, <&5>D5F<G5E>4O <5E4=<>4=,=%<<<O=  nanoCAD 3.0 %��$ 4?O <=65=5D>6, 
MathCAD 12.0, AutoCAD 2015. 

- �?O E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO <E?>?L7G5FEO =4GG=>-F5E=<G5E>4O 5<5?<>F5>4, 
>><?LNF5D=O= >?4EE 7209, >E=4MU==O5 >><?LNF5D=>= F5E=<>>= E ?>4>?NG5=<5< > E5F< «�=F5D=5F» 
< 4>EFG?>< 6 M?5>FD>==GN <=D>D<4F<>==>- >5D47>64F5?L=GN ED54G  
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11 �=O5 E6545=<O < (<?<) <4F5D<4?O 

 

� ?D>F5EE5 <7GG5=<O 4<EF<??<=O «�=D><4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5» <E?>?L7GNFEO E?54GNM<5 

>5D47>64F5?L=O5 F5E=>?>7<< 

%F4=44DF=O5 <5F>4O >5GG5=<O:   
3 ?5>F<<;   
3 ?45>D4F>D=O5 74=OF<O, =4 >>F>DOE <7GG45FEO ?D<<5=5=<5 6 ?D4>F<G5E>>= D45>F5 >E=>6=OE ?>=OF<=, 

<7?>65==OE 6 ?5>F<>==>< <4F5D<4?5 < ?<F5D4FGD=OE <EF>G=<>4E 4?O E4<>EF>OF5?L=>7> <7GG5=<O 

4<EF<??<=O;   
3 >>=EG?LF4F<< ?D5?>4464F5?5=.   

� D4<>4E ?5>F<>==OE < ?D4>F<G5E><E 74=OF<= ?D<<5=ONFEO E?54GNM<5 <=F5D4>F<6=O5 <5F>4O:   
3 6O?>?=5=<5 F5EF>6OE 7444=<= (2 G);   
3 D475>D >>=>D5F=OE 7444G < ?D<<5D>6 (4 G);   
3 ?D575=F4F<< =4 <G?LF<<54<==>< >5>DG4>64=<< < 45<>=EFD4F<O 6<45>D<?L<>6 (2 G).   
� F5?>< <=F5D4>F<6=O5 D>D<O 74=<<4NF 8 G, F. 5. 25% >F >5M57> G<E?4 4G4<F>D=OE 74=OF<=, GF> 

E>>F65FEF6G5F FD55>64=<O< $��%. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



%?<E>> ?<F5D4FGDO ?> 4<EF<??<=5 «�=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5» ?> E>EF>O=<N =4 
01.12.2017 7. 

�E=>6=4O ?<F5D4FGD4: 

1. %>65F>6, �. /. �=D>D<4F<>==O5 F5E=>?>7<<: F5>D5F<G5E><5 >E=>6O. 3 %4=>F-�5F5D5GD7 : �4=L, 2017. 
3 444 c. 3 $56<< 4>EFG?4: http://e.lanbook.com/book/93007. 3 �47?. E M>D4=4. (26.04.2017) 

2. �=D>D<4F<>==O5 F5E=>?>7<< 6 <5=546<5=F5 (G?D46?5=<<) : GG55=<> < ?D4>F<>G< 4?O 
4>445<<G5E>>7> 54>4?46D<4F4 / .. �. $><4=>64 [< 4D.] ; ?>4 >5M. D54. .. �. $><4=>6>=. 4 �. : �744F5?LEF6> 
.D4=F, 2017. 4 478 E. 4 (%5D<O : �4>4?46D. �>445<<G5E><= >GDE). 4 ISBN 978-5-534-01135-7. 4 $56<< 
4>EFG?4 : www.biblio-online.ru/book/F293BFB1-C447-4AD2-B8A3-56F85FE5C980. 

�>?>?=<F5?L=4O ?<F5D4FGD4: 

1. �5=<4FG?<=4, �. �. CMS - E<EF5<O G?D46?5=<O >>=F5=F>< : GG55=>5 ?>E>5<5 4?O 4=56=>7> >F45?5=<O ?> >GDEG 
"%>6D5<5==O5 <=D>D<4F<>==O5 F5E=>?>7<<", "�=F5DD5=E "'5?>65>--��" (��� ?> =4?D46?5=<N 
"�=D>D<4F<>4 < 6OG<E?<F5?L=4O F5E=<>4", E?5F<4?L=>EFL "�6F><4F<7<D>64==O5 E<EF5<O >5D45>F>< 
<=D>D<4F<< < G?D46?5=<O" / �. �. �5=<4FG?<=4 ; �>6>E<5. 7>E. F5E=. G=-F. 3 �>6>E<5<DE> : �74-6> ��&', 2015. 
3 60, [2] E.<?. c. 3 $56<< 4>EFG?4: http://library.kuzstu.ru/meto.php?n=218145&type=nstu:common. 3 �47?. E 
M>D4=4. (26.01.2017) 

2. �4EE<E<=4, �.�. �=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5. �D<<5=5=<5 ?D>7D4<<O SCAD 4?O D4EG5F4 
EF5D6=56OE E<EF5< [-?5>FD>==O= D5EGDE] : GG55=>5 ?>E>5<5 4?O EFG45=F>6 =4?D46?5=<O 21.05.04 «�>D=>5 
45?>», E?5F<4?<74F<O 21.05.04.05 «,4EF=>5 < ?>475<=>5 EFD><F5?LEF6>» / �. �. �4EE<E<=4 ; $���' �� 
«�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», �4D. EFD-64 ?>475<. E>>DG65=<=, L4EF < D47D45. <5EF>D>645=<= 
?>?57. <E>>?45<OE. 3 �5<5D>6>, 2016. 3 96 E. http://library.kuzstu.ru/meto.php?n=91431&type=utchposob:common 

3. �4EE<E<=4, �.�. �=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5 [-?5>FD>==O= D5EGDE] : >>=E?5>F ?5>F<= 4?O 
EFG45=F>6 =4?D46?5=<O 21.05.04. «�>D=>5 45?>», E?5F<4?<74F<< 21.05.04.05 «,4EF=>5 < ?>475<=>5 
EFD><F5?LEF6>» / $���' �� «�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», �4D. EFD-64 ?>475<. E>>DG65=<=, 
L4EF < D47D45. <5EF>D>645=<= ?>?57. <E>>?45<OE. 3 �5<5D>6>, 2017. 3 95 E. 

4. http://library.kuzstu.ru/meto.php?n=91588&type=utchposob:common 

5. �4EE<E<=4, �.�. �=D>D<4F<>==O5 F5E=>?>7<< 6 7>D=>< 45?5 [-?5>FD>==O= D5EGDE] : ?45>D4F>D=O= ?D4>F<>G< 
4?O EFG45=F>6 =4?D46?5=<O ?>47>F>6>< 21.05.04 «�>D=>5 45?>», E?5F<4?<74F<O «,4EF=>5 < ?>475<=>5 
EFD><F5?LEF6>» / $���' �� «�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», �4D. EFD-64 ?>475<. E>>DG65=<=, 
L4EF < D47D45. <5EF>D>645=<= ?>?57. <E>>?45<OE. 3 �5<5D>6>, 2017. 3 50 E. 

6. http://library.kuzstu.ru/meto.php?n=91590&type=utchposob:common 

7. �=D>D<4F<>==O5 F5E=>?>7<< 6 <5=546<5=F5 : GG55=<> < ?D4>F<>G< 4?O 4>445<<G5E>>7> 54>4?46D<4F4 / �. �. 
�4=>D>64 [< 4D.] ; ?>4 D54. �. �. '5DF>>. 4 �. : �744F5?LEF6> .D4=F, 2017. 4 368 E. 4 (%5D<O : �4>4?46D. 
�>445<<G5E><= >GDE). 4 ISBN 978-5-534-00503-5. 4 $56<< 4>EFG?4 : www.biblio-online.ru/book/478DE08C-
289F-48A2-8FF9-2AC28C1A0AFC. 
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